SUMPO

..E PD

JAPAN

VERIFIED
SUMPOREIESANILFOYF L (SUMPO EPD)

MEC Industry

v Third party verified
Environmental Product Declaration

Confromance with

1SO14025 | 1SO14040 | 1SO14044

MEC Industry®k = &4t
MEC Industry Co.,Ltd.

MITY¥ CEREX)

MI DECK (Semi-nonflammable)

\W/AWAWAW/\W/.

ol // Wbl L]
BEHRES RIAEEA NS MREEE ShEAR EPDH1T
SuMPO-EPD-2512-61-1 2025/12/25 2026/1/16 2030/12/24 BH—SIREPD
KEHINSERRARE
EINDEERLRIE
1S021930:2017

EPD(IREHARI CTHoTE, EFHFR I AR RIEEBZIEHHYET
EPDOEH B SUEMEERRTACHUTEREL TS

https://ecoleaf-label.jp/epd/search



SuMPO

Environmental Product Declaration for Ml DECK (Semi-nonflammable) JAPAN
VERIFIED

R ES) SUMPO-EPD-2512-61 E p D
o

Q@ EXIFIR
>7T0J5L1ER
TOU3 LR SUMPORRIESNILTOIS A
TOISLARL-5-  —RARIEAT AT T IR S
FrTEH: ER#BTREXKME1-14-8 KANDA SQUARE GATE 4F
1Y b https://ecoleaf-label.jp

> GPI-PCRI&E#R

GPI SuMPO EPD Japan General Program Instructions v.2.1.1
PCRE& R BV RUZRES
PCREFES SuMPO-PCR-01000-2-0-1
PCREZZE H 2025/3/31
LEI-IRIEER (FIE) FEE ®h (BEZRZATY 2ERE. —RUBEANEE-BESDG s#Eryy- BER)
PCREZNHARR 2030/3/30
PCRETTE — A FEAY AT F IR E HEEREE
> RS
1ISO14025 % UNSO21930:2017(ZHE 0158 = &R ALE
; " O &R B AE
e g REALLS | REHAIES EPDY AT LFREE
=R B =FEIREL (C&B3 =ERALE

REEEEE (FTE) PRk Rk (BEFREFNEEEANERIVIINVIYATLEYS-)

> ZEYLIRIE
B 1SO14040:2006 B 1SO14044:2006 B 1SO14067:2018
REYLATRE B 1SO14025:2006 B 1SO21930:2007 B 1SO21930:2017
L1 EN15804+A2 1 EN50693:2019 [ ISO/IEC63366:2025

EPDICEEHEHDIEHM KR VEPDIC L HDOIBERICAIT 3BIEERICOVTOEIEFEPDIISEEEN B EET, EPDORNAICRET RIS, HREEIIOWT
(3. EPDEVS EEEFTHRNEDECESL,

EPDOLLES, R ROBEEE T2 (CERBLE ETEBINBINEBSR V), BRURICEIZEMOIMIY1I)24kEEEL, BRIURICHL
TRIZORABEEELEYFTIAEEALVAHENHYET,, EPDOLLEOBRICE B INEXHFIATEMERTEPCRESBLTESL),

EPDAE S EMICEIVTVBIEA. EIIHEEEEAISH Y TIThNERTNERY A,

REFETEREREHETETNEBEETY, BEOARSSILIVRENOZEE—BCRERITONZEOTRHYE A, i, BELEKEGEREA
DEFHMBREORES PN REEBBLTNGNE) | URTHE REPARICENEIOZEEREINE) EEETIEOTHHYEEA,

MEFERAWVCEEDS S STV B MERERRUIIITVIIINAIRY NI D BIEIE R, EEYBEEIFR, HAJ0-CRYSRIEER
[FHFEOHEMIOVTOERTREHYZEA,

@EPDEVFEXEE R
EXEL-HEA MEC Industry® kX &1t & 2B = £ R IEER
i BIRE B\ REANE/KETAEE3102
HWEhEEL 0995-55-1586

LCAEESRMEE (FrE) i B A (MEC indutry %hEX&H)
FRATEE | RC S BHEDNIEMO— %A CBERA B L ETHELT SHENEMR AT s 5L
EEEE ATVITIUIEE | TH R BHERISCRAI GBRETE (JLI77) (L&3, ABEALEFRTEE
DS



Environmental Product Declaration for Ml DECK (Semi-nonflammable)

Q& TIFIR
BB TR MITVF (CERER)
B EDE MID
B GEEE EERTVFORM

HoEE 25.7 kg

1] OO
REER yoome  mmmror
Biffieee -
E¥ K505

mAES  ERARS
FHERELRIL T A F &
BEV I (REHR) BAIH

SR
HEUITY

VERIFIED

ZHRES) SUMPO-EPD-2512-61-1 ‘ E

BERE | 257 kg

BREE - HKB A IV I -ME - #HKE 1V T - MEDEEY AR

https://www.mec—industry.com/building—material

OM B RUMEICEIS 2B ER
BREHER
XVFEBIR
IRIEEIR
it
I

VEMBRER
RS AAM

OLEMHRRREFE
HH
BESLYDEYERRREER

RETICDILZBEEMOEYHRRKREFE

EIE (%) BE
35.8 9.1
5.2 1.3
49.2 12.5
0.3 0.1
9.5 24

P
Gl

EIE (%)
100.0 0.35

BFE kg-C)
7.85 28.8
0.35 1.27

BFAFETYRT - (B ELTHRBNIR @REF) H—eioThY, IV 7U-MTAHBETvF R LT, BILRIBERE ~
SABASTEBFEBYIREF IV - AT TEL TN 2 BB BHREETVFTT , BRMEHIEIFM EAM,

kg
kg
kg
kg
kg

kg

EBE (kg-CO: eq)



SuMPO

Environmental Product Declaration for Ml DECK (Semi-nonflammable) et

VERIFIED

Z§%ES) SUMPO-EPD-2512-61-1 E p D
o

OLCA BEIEIR
>EPDY1 J1ER
BT B E-#2F O J-T&& O RS
EPDIAS  YARI1T B FEY b O #EHY1 b
FRAE B FEE O INEF9E O K&xME O _EBR{E
Hh 2 F) 5 B HA
BHER/EBET
STEPDICHITS
REMEDRA
BHER/EHEINEED
EPDICHIT2. HEMRERD
L FiRICEad 550 EA
EHRREPDOR A

> LCARDE 15 R
Héhe B AL 1 mfy
EEEMSLYOER
HHEI0- (WEEMEBETLD
(CHERE G
JATLER B Cradle-to Gate [0 Cradle-to-Gate with options | [] Cradle-to-Grave
LCAYI+I1T 2757 FRRMILCA
LCIT-INR-2 AIST-IDEA  Ver3.5.1
HHEACETIV SURZED : IPCCEEOREHMIREZ(PCC,20214F) . ZDOMDFLEEE : LIME2
ZOMONYIIZIIRT-H |-
[GPICHRED = RT I RBEEBELET- 9BV TEEETof, BH. 77 mE L
ZRT-IRE ISO 14044 : 2006 (BRIBVRIAY—=FATYAINTEAXY b - ERFBERIEE) O
4236 [CH>TIToN
—RT-HINER S BRI
—RT-HUNERAR  2024FE4 815202549 A
¥ mkxFORYELN O 0/0770-F B -1/+1770-F
FEREE B EPHBOFEENEEAIVIA O Zoft
B ]
B9siE®m  BAH

FATTT

> B E X RERPE
155 FER B £
= U‘%: JURTEE 4T ELREE 72 JLTEE =
B M B B HEAT B BES G S AN AR R PR %
Al A2 A3 A4 A5 B1 | B2 B3 B4 B5 B6 B7 C1 C2 (C3 C4 D
B I 7] I B E
B - P 2 = ||
Mo 5 % e x|k ® | R | E #
BoA B oA B o #£ ¥ B E X L L T 0w mom ¢
> o & o T B ® ® # & o 2 mo 0 -
BB @ & 3 = W B QO {;
IR R R R R R

|
W
gl

MR- EENRN



SuMPO

Environmental Product Declaration for Ml DECK (Semi-nonflammable) g

VERIFIED

ZHRES) SUMPO-EPD-2512-61-1 ‘ E P D

>7P0-v3y

TOT-Y3VIEBEEE LI IYENELETHS

>NybAT

P C RICEHINEIEB LS THYMAILETOER G A

>YATLIESE

GPIBLUPCRTEDHONTY AT LAERATOCAUNE VAT LERNELTVEN
AM~A3DEM RIS REDAIEETE N RELE,

EALEPCRTIE LR EHOAN LBEE S REFTHY.
MLRISEREENREBE THE A,

R Y AT LB RE100ETH S,

>9FUA
TI1-) SRR

Al PCROMESNTEX Y FUA
A2 PCROMESNENE Y FUA

A3 PCROME SNTEX Y FUA



B%ES) SUMPO-EPD-2512-61-1

Environmental Product Declaration for Ml DECK (Semi-nonflammable)

WEHRETZLTDII IV TIVEBEICBEWNT. 2021 E(LH T2 B AFHORTENOT - IRV TEEEITO,

>317147)70-K

Al A2 A3
R FERE TG~ D% &
10 11 EEEEEH
——[ismmes|
15BN
. ] 1 ] 1
158 I | APEE SEEEE |
=
sTvieEEEE |,
| ye— | (Ehe51)
= ol bz
n ) o 7w
17EEEEE Jemsvesaay
| S— U EERE
(=)
[ Pr— H 248 bHE }—-{ 19 23T | 0B E0E II
b3t = 0l I l 2202 FWpR

1202 b

ok -

i

EPD

VERIFIED



F#HES) SUMPO-EPD-2512-61-1 . E P D

Environmental Product Declaration for M| DECK (Semi-nonflammable) —3APAN
VERIFIED

OETERER
>J4TY1 7V EFEER
. e en n 155 FR B i .
BEMBLEERPE e T EXpE amE SRS PRARER B BRN
Al A2 A3 A1-A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 C1 (o] (o] c4 D
SURZE) - &5 kg-COzeq 2.03E+00 ' 1.14E+00 1.89E+00 5.06E+00 - - - - - - - - - - - - - -
SURZE) - (L RE%R kg-COzeq 2.49E+01  1.14E+00 1.89E+00 2.79E+01 - - - - - - - - - - - - - -
SURZE) - £YE% kg-COzeq -2.29E+01 1.39E-04 | 2.07E-04  -2.29E+01 - - - - - - - - - - - - - -
SURZE) - LA ARUHE kg-COzeq 2.74E-02 = 7.19E-04 | 2.48E-03  3.06E-02 - - - - - - - - - - - - - -
IV BHIE kg-CFC-11eq| 1.45E-06 = 1.13E-11 | 7.59E-09 & 1.45E-06 - - - - - - - - - - - - - -
EREL kg-PO.¥eq 5.69E-03 | 4.79E-09 | 7.38E-06 5.70E-03 - - - - - - - - - - - - - -
242 (4 kg-SOzeq  2.02E-02 | 7.81E-03 = 1.92E-03 | 2.99E-02 - - - - - - - - - - - - - -
FALFEAFI IV MERK kg-CoHseq| 2.87E-04 | 1.22E-04 | 2.70E-05 | 4.36E-04 - - - - - - - - - - - - - -
BMATYAY DI THA I FETHE
FEME RS - S19 kg-Sbeq | 6.49E-04 | 3.82E-09 @ 8.42E-06 | 6.58E-04 - - - - - - - - - - - - - -
SURZE - fZeiddanx kg-COzeq 0.00E+00 ' 0.00E+00  0.00E+00 0.00E+00 - - - - - - - - - - - - - -
>F4TH1IWAIRY N 3 RBEEER ——REROERCET 31518
. e en n 155 FR B i .
EMBLEERPE e T EXpE aE SRS PRARER B BRN
Al A2 A3 A1-A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 C1 (o] (o] C4 D
BEMRE—RER - IRIL¥- (RPRY M) 6.87E+01 | 5.22E-03 | 1.34E+01 | 8.21E+01 - - - - - - - - - - - - - -
BERRE—RER - IRNE-EEME (RPRy) M) 3.00E+02 | 1.01E-05 | 1.32E+01 3.13E+02 - - - - - - - - - - - - - -
FEFETRE—RER - IRF- (NRPRp) MJ 3.60E+02 | 1.24E+01 4.94E+01 | 4.22E+02 - - - - - - - - - - - - - -
JEBEARE—RAR - TRVF-25HE (NRPRy) M) 2.84E+01 | 3.80E-05 | 3.70E-02 | 2.85E+01 - - - - - - - - - - - - - -
>S4TY1 WA YR N B RBERR — —REROERCET 315
EMBLEERPE e T Ep s : i PRARER RS BRN
BV FeEIK B E
Al A2 A3 A1-A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 1 (@] a c4 D
R kg 1.34E+01  4.26E-06 | 1.19E-02  1.34E+01 - - - - - - - - - - - - - -
BAERATRE R IR M) 8.30E-02 ' 2.33E-06 | 1.35E-01 2.18E-01 - - - - - - - - - - - - - -

JEEE AR IR MJ 2.03E-01  1.27E-05  1.24E-03 = 2.04E-01 - - - - - - - - - - - - - -
EURTR)LF- M) 1.23E+00 8.08E-05 | 2.50E-01  1.48E+00 - - - - - - - - - - - - - -



SuMPO
BES) SUMPO-EPD-2512-61-1 E p D
Environmental Product Declaration for M| DECK (Semi-nonflammable) .

JAPAN

VERIFIED

> ST VR MU S RBEER —IEEMER-LRRE. RKOHEE

. . n fEFRER RS .
B S ERRE e T EpE HHE . PRARER B BRN
Al A2 A3 A1-A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 c1 c2 c3 c4 D
FEMEREB-LE MJ 3.38E+02 | 1.53E+01 2.65E+01 | 3.80E+02 - - - - - - - - - - - - - -
WKDEE m 3.19E+01 | 5.35E-04 | 1.39E+00  3.33E+01 - - - - - - - - - - - - - -
> BEYBERER
. . n fEFRER RS .
BN SRS e T EXpE HHE . PRARER B BRN
Al A2 A3 A1-A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 c1 (@) c3 c4 D
BEREEY kg 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 - - - - - - - - - - - - - -
mEEEEY) kg 1.95E-01 | 7.80E-04 | 2.19E-02 | 2.17E-01 - - - - - - - - - - - - - -
EULAIRSTEBEEY m 2.27E-10 | 1.29E-14 | 7.89E-11 | 3.05E-10 - - - - - - - - - - - - - -
hBLMELNI R EHERREY m 1.69E-07 | 1.36E-11 | 3.41E-08  2.03E-07 - - - - - - - - - - - - - -
>HAHJ0-ICET2RIEER
. . n fEFRER RS .
BN S ERRE e T EpE HHE . PRARER B BN
Al A2 A3 A1-A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 c1 (@) c3 c4 D
B ARG kg 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 - - - - - - - - - - - - - -
U4V R kg 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 - - - - - - - - - - - - - -
IRIVF-EURAHER kg 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 - - - - - - - - - - - - - -
F%ﬁ#%t‘?w}éﬁﬁl«?)ﬁf— MJ 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 - - - - - - - - - - - - - -
(IRNF-EUHE 260%)
FEEYORED

N N MJ 0.00E+00 ' 0.00E+00 | 0.00E+00 0.00E+00 - - - - - - - - - _
(TRILE-EUINENE <60%) " * * *

18 37 053 BEEE Y /AR ST 3 Fe A T A M) 0.00E+00 ' 0.00E+00 0.00E+00  0.00E+00 - - - - - - -



FRES) SUMPO-EPD-2512-61-1 SuMPO

Environmental Product Declaration for Ml DECK (Semi-nonflammable) ‘. E I D

JAPAN

VERIFIED

>LCARERRICRT 3508

—ARERME (READ) ZFALTNSLS. ARAEFHEORFHERRLTVWRWMEENHVET, 201
. CORERISBEMBEE LTTHALLEEN,

Q@ ENNIRIEER
> LCAICBIEL A VEINIRIZIEER

>HEWMELCKTZER
HEWES CAS No. BRSNS ELEXFRFDS R

EMBIUERERNSOERYE DK H

@HFED

=
Fx

frit



| P pd
+1SO14025:2006 Environmental labels and declarations — Type Ill environmental declarations — Principles and

procedures

+1SO14040:2006 Environmental management - Life Cycle Assessment - Principles and framework
+1SO14044:2006 Environmental management - Life Cycle Assessment - Requirements and guidelines
+1S021930:2017 Sustainability in buildings and civil engineering works — Core rules for environmental product
declarations of construction products and services

+1SO14067:2018 Greenhouse gases — Carbon footprint of products — Requirements and guidelines for

quantification



